Quiz questions for leap year:

Is the current year a leap year?

Why or why not?

Was 1800 a leap year? No
Was 2000 a leap year? Yes
Explain the rule for leap years.

Years evenly divisible by 400 are leap years.  All other years evenly divisible by 4  and not evenly divisible by 100 are leap years.

Write a method, boolean isLeapYear( int year) that determines if a given year is a leap year.

  boolean IsLeapYear(int year)

  { 
//Purpose:  Determines if given year is a leap year.

    
// given:   year = given year after 1582 (start of the Gregorian calendar).

    
// returns:  TRUE if given year is leap year, FALSE if not.


if (year % 400 == 0) return true;


if (year % 100 == 0) return false; 

if (year % 4 == 0) return true; 

return false;

    } // IsLeapYear
